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sym(2/3) + sym(3/4) % 2/3 + 3/4
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ans=ﬁ
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2/3 + 3/4

ans = 1.4167

% ERBERTOTE | BREFEN/NEMTOEEICK S
(2/343/41i)+(3/4-3/41)

ans = 1.4167
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sym(sqrt(-2)) % SR#EF:—V2 i FETCZAHALDTEE !

ans =‘v5i

% 2[R FE
factor(9325921270273)

s 9325921270273 D 3= AE %

ans = 1 <3
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% ZIAT, ORI
f = x"2-2; % xA2 2
factor(f, x) % 7 7#/L+ (BEBHEKX) TORED@EE R B,

ans = x*-2

factor(f, x,'FactorMode', 'full')%s ZXE23HmADETORE D ZBHRAIIZRT

ans = (x—1/2 x+4/2)
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Arcsin(x) and sin(x)
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Arcsin(sin x)

—— Arcsin(sin x)
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F=int(x*sin(x), 'Hold',6 true) %

= integrateByParts(F,sin(x)) % sin(x)Z%ciiEnd % &

release(I) % I D
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% #LAEH
clc;
j_max = 5000;

c lear;
% 7T A
nt 9;
%177X@$ﬁW
j=1:1:3_
cmmt=®; ﬂﬁﬁﬁﬁbtﬁéiﬁwﬁﬁ®@%k
r = randi([l 365]1,1,n); S TNZTNDOELEICHE
% B 7 X LICENYIRD
R = sort(r); % /h—>KICV—F
for 1i=1:1:n-1
= R(i+1)-R(1i);
if E ==
count = count + 1;
end
end
count; % FAEHBMNELICA BEFEDHEIK
if count > 0
Count = Count + 1;
end

nt/j_max % 1EUEDFERDE L IC7 BHESR




